W=1200LL T W=1200L4TF W=1200L1F 100~270
20
FyTL—IL (AL B
DP11540 2|
1 by T L—ILRIF(AL) o3
72.5 425 NOTUS9712 %?
PBFA&yEL S E X (SUS)
*
2 M4 x 20 : %
% 1] V— I\ —HRfHFH(AL) 1] 3
sl g P /ﬁ” SL2323 o| B %
% = ﬂgﬂ = PEITSAUR(AL &
o g t
¥ B = | P2650C §i
s éﬂ kS R/ al(SUS) —81 o
a | M4 x 8 1| — - | wsL
= F5R/MaL(SUS) 2 {Xf
q/f M4 x 12 Y 3
| HH(AL)
ﬁ,i/ S5545
o || HAT TR (AL)
o ‘ [1—50 x 30 X 2.3t
¥ : lﬂ i/
i 5|
| &l X |
How| B il
|
M67K 7wk (AL)
1°|! 7 LIM6 x 20 (SUS)
\ LAV X A58 (ZAM9O) X AL R (ZAMIO) BXHI STk (AD
11| M5 x 15-M5#F vk [0—50 X 30 X 2.3t [—50 X 30 X 2.3t K72EWHA
S ‘ FSRINART(SUS) XH(AL) by TL—IL(AL) XHEAL IURF vy (HHE)
I | . M4 DP11540 -
57 g 1] N $5545 $5545 DP11540ECP2-L/R
T3 BT 7 Z4L (SUS) P R T > H—(SUS)
20 g ‘ M4 x13(ETFDH) 45 gT— 6 SGA-M8.”M8 x 35
ol e o i U e T . S . T T T
° | ®55x 30 *gl-’* ol = 21, - ) R A
z / LR L —J s T8~ s ———— = el fl| v
. T% ? M5 X 15+ M58 F 23 23 23 23 23
wsL o * Lo ] ] .
E L—/\—BR e FH (AL ;r;u\ R (SUS)  FSRINRT(SUS L—/N— L—/A\—TUR#HAL
g AX EEELAUEETE JL—/N—E{F#1(AL) FRINRT(SUS) RS RIMRD(SUS) J— JL— U RH(AL)
8 SL2323 M4 x 12 M4 x 8 P2650C P2815/L-275% 15X 1.5t
RiSEE L—"—Sa(ohEf SR /MaLAL JL—N—BR (AL A=ybER@ L
UaqUrH SR L(AL) ER{+#4(AL) BT 524l (SUS)
2.0mm M4 x 12 SL2323 e 1 LT D7)
A2 b7 h—(lig) Jo—N— Litsk 2 —s— Ltk 2 J—iN— Litsk 20
SR{ART
W=1200L4F W=1200L4F W=1200L4F 100~270
XOER; XHREVFIIKFEFEREICLYELGYET, XEXFITSryNMEA T 3o TY,
STE WrE X THEHFHER
AN _— 2 £ B A I$% — = #3 i374=! B %
A / En§+ bl [ | A L) — BX A
A 1 B | & ﬁitn*i#/b W By | B | 6@ |TEB
ﬁ = 2 % 8 = 2 F 7L EE FEEME # R (A3)=1/8,1/25
A _— B i@ | PEIJS (2K /SL-PB-DP11540-F

#5E B :2006.12.07 HEH: 2010.6.22

DOPPOPOPDOOD

E-033



